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i. Q. 1. is Compulsory.
ii. Attempt any three from the remaining.

iii. Assume suitable data.

Q.1 (a) Explain Regression based classifier

(b) What is Data Preprocessing? Explain the ﬁ:fﬁ:rmt muﬂi@dﬁ TD! {h# Dm CI' "

(¢) What is hierarchical clustering? Explain any two mﬂnnmmfnr ﬁh‘j
between the  clusters in hierarchical clustering. ' &

(d) Define “Data mining”, Enumerate_five Eﬂ!ﬂplﬂ Benefit by (%)

using Data Mining

Q.2 (a) Explainclearly working of DBSCAN m_ihg_appmpﬁ ¢ (10)
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cd ritig = {z 4/ m sz,f.’o 20, 11, 25 Consider k=2, cluster the given data using
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